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Primary Division: Problems Il

P2.1. On a skilift the chairs are equally spaced. They are numbered in order from 1. Kieran
went skiing. He got in chair 10 to go to the top of the slopes. Exactly half way to the
top, he passed chair 80 on its way down.

How many chairs were there on the ski lift?
Explain your reasoning.

P2.2. Katy writes down all of the integers from 1 to 1000 that have 4 as the sum of their digits.
(@) Listall such numbers.
(b) Find the proportion of these numbers that are not prime.

P2.3. Lunnocks sell chocolate biscuits in packs of six, whereas Tees sell a similar type of biscuit, |
only in packs of five. At a conference of mathematics teachers the organisers wish to provid
exactly one biscuit per person at the coffee break. Can this be done for 58 people?

What is the largest number of people attending where it is not possible to purchase the exac
number of biscuits required?

Explain your reasoning.
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